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m Industrial Roof Truss

The sall-weaight of a roof russ (Nfm?) may be
oblained by !

) [é-;- S)x 10

(d) (%-SJMO

(@) ({+5)x5

{o) 1-5)x5

For economical spacing of roo! lruss, il 1, p, rate,
the cost ol lruss, purlin and roal coveringsi
respeclively, then

@ l=p+r ) 1=2p+1

©} l=p+3 @ t=p+2r

Tha minimum recommended rise of trusses with
Gl sheels is

fa) 1ind (b} 1inS

(c) 1in6 (d) 1in8

Which ono of the loltowing is matched correctly?,
{a} Pratt truss Large span

{b) Warren russ Small span

{c) Quadrangle truss Medium pitch

{d) North lighl truss Venlifation

The wingd ipad on a steel russ for an industrial
building wili depend upon
{a} location of lhe structure
{6} shape ollhe skruclure
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Design of Steel Structures

(c) shape and height ol the siruclure
(d) location, shape and height of tha siruclure

Q.6 Steelmembers subjected lowhich of the (ollowing
lorces are most close 1o tha assumption made in
Ihe analysis of a roof truss?

1. Axialforces
2, Momems
3. Shears
. Which ol the above statemenlis cofrect?
{a) Only 1 {b) Only2
{c) 1and2 (@) 1and3

Q.7 Livaload for roof trusses should not be less than
(0} D.2kN/m? (D) 0.4 kNfm?

(c} 0.75kN/m? @) 1.5kNm?

Q.8 The pariial salety faclors [or dead load and wind
load for a roof truss for limil state of strength are
respectively
{a) t.0and1.5 b) 15and 1.5
(c) 1.2and 15 (dy 1.2and 1.2

Q.9 Tha parlial salely (actors for dead load and live
load lor a roof truss for limil stale of serviceabilily
ara respeclively
(@ 1.0and15 {b) 1.2and 1.0
() 1.0and 1.0 (d) 1.2and 1.5
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